SO GIAO DUC VA PAO TAO PE THI THU TIENG ANH VAO LGP 10 THPT
- ’ NAM HQC: 2014 — 2015
PE THI SO 10-30 T ‘
[ ] Thoi gian: 60 phut (khong ké thoi gian phat deé)

(Pé thi gom 02 trang)

HO VAtEN: ..t Loi dgn thi sinh: Thi sinh lam bai truc tiép vao d‘é‘»thi nay.
L(';'p S6 béo danh Thi sinh khéng duroc sir dung bat cir tai lidu nao ké ca tir dién.
Diém Giam khao Giam thi 1 Giam thij 2

(1-3) Choose the word whose underlined part is pronounced differently from that of the others: (1.5 pts)

1. A. industry B. dust C. must D. confuse
2. A. sleep B. sheep C. complete D. bed
3. A. received B. worked C. coughed D. washed
(4 — 13) Choose the word or phrase (A, B, C or D) that best fits the blank space in each sentence: (5 pts)
4. Consumers want that will not only work effectively but also save money.
A. cargoes B. products C. loads D. production
5. The energy which is from the sun is .
A. lunar energy B. solar energy C. hot energy D. sunlight energy
6. He never learned Chinese he lived in china for 5 years.
A. and B. but C. though D. so
7. Mary can’t join our trip to the zoo tomorrow. She will have to her sick mother.
A. look after B. look for C. look into D. look at
8. How about a rest for a while?
A. take B. taking C. to take D. took
9.1fBa here tomorrow, I’ll phone you.
A. comes B. will come C. come D. came
10. put all the guests on the first floor?
A. Why don’t we  B. I suggest C. How about D. What about
11. Lan in Scotland for ten years. Now she lives in London.
A. lived B. has lived C. live D. has been living
12. The week they went camping was the wettest of the year.
A. which B. when C. that D. who
13. The children are looking forward their grandma again.
A. seeing B. to see C. to seeing D. to be seen

(14 — 16) Choose the underlined word or phrase (A, B, C or D) that needs correcting: (1.5 pts)
14. T have been a secretary in a small company since five years.

A B C D
15. I didn’t have time to study, because I failed in my exam.
A B C D
16. She studies good though she is busy.
A B C D

(17 — 24) Choose the word or phrase (A, B, C, D) that best fits the blank space in the following passage :(4
pts)

CHRISTMAS

1



Every December, I begin to feel uncomfortable. Why? Christmas is (17)

most people

enjoy this holiday, but it makes me depressed. First [ am not a (18) person. This holiday (19)

the birth of Christ, and it’s full (20) religious symbols. Second, Christmas is becoming
more (21) commercial. It’s the most important time of years for owners of stores, (22)
Spending a lot of money seems to be people’s main (23) in December. Everywhere you hear the
commands “Buy! Spend! Give!”. It’s awful. Last, I think Christmas is a (24) time of year for
people without families. I’ve been living far away from my family for years, and I miss being with

them, especially at Christmas.

17.  A. getting B. coming C. putting D. going

18.  A. religious B. difficult C. important D. special

19.  A. organizes B. celebrates C. welcomes D. greets

20. A. with B. for C. of D. by

21.  A.and less B. and much C. and more D. and few

22.  A. for example B. in example C. by example D. examples

23.  A.action B. acting C. act D. activity

24.  A. difficult B. happy C. easy D. good

(25 — 28) Supply the correct form of the words in parentheses to complete the sentences. (2 pts)

25. They enjoy the atmosphere here. (Peace)

26. ’'m that people have spoiled this area. (Disappoint)
27. At last I found the I was looking for. (Inform)

28. Mai is going to her birthday party tonight. (Celebration)

(29 — 32) Read the text and decide whether the following statements are True (T) or False (F) (2 pts)

More than two hundred years ago, the term environmental pollution was quite strange to people.
They lived healthily, drank pure water and breathed fresh air. Nowadays, the situation is quite different.
People all over the world are worried about things that are happening to the environment. Actually it is
man that is destroying the surroundings with many kinds of wastes. Everybody knows that motorbikes
and cars emit dangerous gases that cause poisonous air and cancer, but no one wants to travel on foot
or by bicycle. Manufactures know that wastes from factories make water and soil polluted, but they do
not want to spend a lot of their money on treating the wastes safely. Scattering rubbish is bad for our

health, but no one wants to spend time burying it. Is it worth talking a lot about pollution?

Statements

True

False

29. More than two hundred years ago people knew nothing about environmental pollution.

30. In former days, people were worried about pollution.

31. Everyone knows that cars emit dangerous gases, but they still prefer traveling by car.

32. Factory owners treat wastes from their factories safely.

(33 — 36) Complete the second sentences in such a way that it means the same as the original one.( 4 pts)

33. It takes Minh 2 hours to do his homework every day.

e\ DT T 0TS s S PUSUPRR
34. They have just sold that old house.

=> That Ol NOUSE .....eeiiieiiie e et
35. Unless he takes these pills, he won’t be better.

=l | OSSPSR
36. Although he works hard, he can’t support his large family.
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(1-3) Choose the word whose underlined part is pronounced differently from that of the others: (1.5 pts)

1. A. industry B. dust C. must D. confuse
2. A. sleep B. sheep C. complete D. bed
3. A. received B. worked C. cough D. washed
(4 — 13) Choose the word or phrase (4, B, C or D) that best fits the blank space in each sentence: (5 pts)
4. Consumers want that will not only work effectively but also save money.
A. cargoes B. products C. loads D. production
5. The energy which is from the sun is .
A. lunar energy B. solar energy C. hot energy D. sunlight energy
6. He never learned Chinese he lived in china for 5 years.
A. and B. but C. though D. so
7. Mary can’t join our trip to the zoo tomorrow. She will have to her sick mother.
A. look after B. look for C. look into D. look at
8. How about a rest for a while?
A. take B. taking C. to take D. took
9.1fBa here tomorrow, I’ll phone you.
A. comes B. will come C. come D. came
10. put all the guests on the first floor?
A. Why don’t we B. I suggest C. How about D. What about
11. Lan in Scotland for ten years. Now she lives in London.
A. lived B. has lived C. live D. has been living
12. The week they went camping was the wettest of the year.
A. which B. when C. that D. who
13. The children are looking forward their grandma again.
A. seeing B. to see C. to seeing D. to be seen

(14 — 16) Choose the underlined word or phrase (A, B, C or D) that needs correcting: (1.5 pts)
14. T have been a secretary in a small company since five years.

A B C D
15. I didn’t have time to study, because I failed in my exam.
A B C D
16. She studies good though she is busy.
A B C D

(17 — 24) Choose the word or phrase (A, B, C, D) that best fits the blank space in the following passage :(4
pts)




CHRISTMAS
Every December, I begin to feel uncomfortable. Why? Christmas is (17) most people
enjoy this holiday, but it makes me depressed. First [ am not a (18) person. This holiday (19)
the birth of Christ, and it’s full (20) religious symbols. Second, Christmas is becoming
more (21) commercial. It’s the most important time of years for owners of stores, (22)
Spending a lot of money seems to be people’s main (23) in December. Everywhere you hear the
commands “Buy! Spend! Give!”. It’s awful. Last, I think Christmas is a (24) time of year for
people without families. I’ve been living far away from my family for years, and I miss being with
them, especially at Christmas.

17.  A. getting B. coming C. putting D. going

18.  A.religious B. difficult C. important D. special

19.  A. organizes B. celebrates C. welcomes D. greets

20.  A.with B. for C. of D. by

21.  A.andless B. and much C. and more D. and few

22.  A. for example B. in example C. by example D. examples

23.  A.action B. acting C. act D. activity

24.  A. difficult B. happy C. easy D. good

(25 — 28) Supply the correct form of the words in parentheses to complete the sentences. (2 pts)
25. They enjoy the  peaceful atmosphere here. (Peace)
26.’'m _ disappointed _ that people have spoiled this area. (Disappoint)
27. At last I found the _ information 1 was looking for. (Inform)

28. Mai is going to _celebrate her birthday party tonight. (Celebration)

(29 — 32) Read the text and decide whether the following statements are True (T) or False (F) (2 pts)

More than two hundred years ago, the term environmental pollution was quite strange to people.
They lived healthily, drank pure water and breathed fresh air. Nowadays, the situation is quite different.
People all over the world are worried about things that are happening to the environment. Actually it is
man that is destroying the surroundings with many kinds of wastes. Everybody knows that motorbikes
and cars emit dangerous gases that cause poisonous air and cancer, but no one wants to travel on foot
or by bicycle. Manufactures know that wastes from factories make water and soil polluted, but they do
not want to spend a lot of their money on treating the wastes safely. Scattering rubbish is bad for our
health, but no one wants to spend time burying it. Is it worth talking a lot about pollution?

Statements True | False
29. More than two hundred years ago people knew nothing about environmental pollution. T
30. In former days, people were worried about pollution. F
31. Everyone knows that cars emit dangerous gases, but they still prefer traveling by car. T
32. Factory owners treat wastes from their factories safely. F

(33 — 36) Complete the second sentences in such a way that it means the same as the original one.( 4 pts)
33. It takes Minh 2 hours to do his homework every day.

=> Minh spends two hours on doing his homework every day.

34. They have just sold that old house.

=> That old house has just been sold (by them).

35. Unless he takes these pills, he won’t be better.

=> If he does not take these pills, he won’t be better.

36. Although he works hard, he can’t support his large family.

=> Depite working hard, he can’t support his large family.




